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AQAX

Glossary for Mark Schemes

These examinations are marked in such a way as to award positive achievement wherever possible. Thus,
for these papers, marks are awarded under various categories.

M Method marks are awarded for a correct method which could lead
to a correct answer.

A Accuracy marks are awarded when following on from a correct
method. It is not necessary to always see the method. This can be
implied.

B Marks awarded independent of method.

MDep A method mark dependent on a previous method mark being
awarded.

BDep A mark that can only be awarded if a previous independent mark
has been awarded.

ft Follow through marks. Marks awarded following a mistake in an
earlier step.
SC Special case. Marks awarded within the scheme for a common

misinterpretation which has some mathematical worth.

oe Or equivalent. Accept answers that are equivalent.

eg, accept 0.5 as well as %
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G Coordinate Geometry - Circles

Question | Answer Mark Comments
1(a) X2+ (y-3)2%=4 B2 B1 LHS, Bl RHS
1(b) (X—1)2+ (y +5)2 =16 B2 Bl LHS, B1 RHS
1(c) (X+3)2+(y-4)2=7 B2 Bl LHS, B1 RHS
1(d) (X —8)2 + (y — 15)2 = 289 B2 Bl LHS, B1 RHS

(-8)? + (-15)? M1 oe

64 + 225 = 289, Yes Al
2(a) (=6 (centre =) (0, 0) B2 B1 For each
2(b) (r)=10 (centre =) (3, 4) B2 B1 For each
2(c) (r) = v/3 (centre =) (-5, 0) B2 B1 Foreach
3 -3+5 6+12 M1

2 o 2
1,9 Al
JG -1 + (12 - 9)° M1 oe
ft Their centre

5 Al

(X-1)2+(y-92=25 Alft ft Their centre and radius
4(a) (3.3) B1
4(b) \/m M1 oe

J5 Al

(X-1)2+(y-2)2=5 B1ft ft Their radius
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Question | Answer Mark Comments
5(a) 12+14 or 6+4 M1
2 2

(13,5) Al
5(b) J(20 -13) + (12 - 5) M1 ft Their M

‘\[98 Al }72 + 72

J49x2 = 742 Al J7P@A+D =742
5(¢) J(20-12)* + (12 - 6)° M1 oe

10 Al
6 -2+12 M1

2
0+4 M1
2

C (2,5) Al
7 _

Gradient AC = 6-3 M1 o€

4 - -2
_3 (_ 1} Al oe
6 S 2

Gradient BC = -2 B1ft

6 -k _— M1

4 -6

k=2 Al
8 (13-5)2+ (-2 -4)? M1

64 + 36 =100 Al
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Question | Answer Mark Comments
9 (13-a)?+ (-2 -4)2=100 M1
169 — 13a - 13a + a2 + 36 (= 100) M1 Allow 1 error
a?-26a+105=0 Al
(a-5)(a-21)=0 M1
a=5and a=21 Al
10(a) 3+11 M1 oe eg,3+4
2
k=7 Al
10(b) /62 +(7 - 3)2 M1 oe
ft Their k
J52 AL
(X—6)2+(y-7)2=52 Alft ft Their k and their radius
11(a) Cis (3,5) Bl
: - M1
Gradient CP = >-1
3-4
-4 Al
B1
Gradient OP = %
-4 x 1= -1 Al
4
So perpendicular (ie, tangent)
11(b) r=.17 Bl
OP = 4% + 12 M1
= J17 Al
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Question | Answer Mark Comments
12 Bl
Gradient OP = 2 (: EJ
4 2
Gradient of tangent = -2 B1ft
y-2=-2(x-4) M1
y=-2x+10 Al
13(a) Centre (1, 9) B2 B1 for each coordinate
r’=3>+4> or d?=6%+8? M1
(x—=1%+(y—9) =25 Alft ft their centre
13- . .
13(b) Grad AB = or using their M1
centre with A or B; or § or i
6 3
3 .
Grad tangent 2 or —theirgrad AB | M1
.3
y—5=the|r—z(x+2) M1
3x+4y-14=0 Al




